
The amplitude of the current through the resonant circuit computed from (12.45) is
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From (12.41 ). the DC input current is
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The maximum switch current obtained using (12.42) is
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Assuming Qr:7 and using (12.31), (12.49), and (12.52), the component values
of the load network are:

and
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It follows from (12.33) that in order to keep the current ripple in the choke inductor
below lOVo of the full-load DC input current !, the value of the choke inductance
must be greater than
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The peak voltages across resonant capacitor C and inductor L are
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and
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Assume that the DC ESR of the choke 17 is ryy - 0.15 A. Hence, from (12.54) the
power loss in ry7 is
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P,Lf : ruyll :0.15 x 0.82 : 0.096 W. (12.1 1s)


